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h_ ljude-A

h“;’:qim’l Questions
1. | Which animal figure is not adopted in the National Emblem of India ?
(1) Lion (2) Bull |
(3) Elephant “ (4) Horse
s Em iR g A T o kY
| (1) & (2) %
(3) i (4) dr

2, | OnJune lst, 2012 which Vikram Samvat is going on ?

(1) 2068 (2} 2069
(3) 2070 (4) 2012
¥4 1, 2012 Ft -7 BES 90 99 @k 7

(1) 2068 (2) 2069
(3) 2070 (4) 2012

3. | Light travels from the Sun to the Earth approximately in .......couveu,

(1) 8.3 minute (2) 24 hours

(3) 364.4days (4) One light year
g4 & uel OF T T oo, § 98T TG B

(1) 8.3 A= (2) 2442

(3) 364.4Rs (4) TH W T

What is the normal human body temperature ?
(1) 36.9°C (2) 984°C

(3) 100°C (4} 50°C

A e i e e ¥ 7

(1) 36.9°C (2) 98.4°C

(3) 100°C (4) 50°C

EOT-2012/SET-Y (1)
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Q“;S;.imr Questions

5. | Which state among the following has the least number of members in
Vidhan Sabha ? L - ~
(1) Sikkim (2) Goa
(3) Mizoram : (4) Manipur
=1 & fg > # R aan § @98 &9 9o ¥ 7
(1) e (2)
3) Pl (4) g

‘6. | Who was the first woman to become the Chief Minister of a State in 3
India ?
(1) Sarojini Naidu (2) Sucheta Kriplani

f (3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
R % T A g = & ATl gee aied w9 @ 7
(1) =R g (2) g HuaAR =

| (3) fast wesdt diea (4) TSHA ST B

i 7. | Raman Singh is the Chief Minister of ...................
(1) Chhattisgarh (2) Tripura
(3) Jharkhand (4) Madhya Pradesh
(1) =R (2) Pgu
3) FRE= (4) 7 =W

8. | What is the total number of nationalized banks in India ?

(1) 21 (2) 20
(3) 14 (4) 6
(D 21 (2) 20
(3 14 4) 6

CJDEOT-2012/SET-Y (2)
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h“;?:“’“l Questions

9. | Which state among the following has the higheiéft literacy rate ?
(1) Goa " (2) Maharashtra
(3) Himachal Pradesh @~ (4) Mizoram
o & & 50 59 &1 TERAT S Haies § 7
(1) A (@) R
(3) PRurE e - (4) e

10. | Who did ransack Somnath temple in 1026 AD ?
(1) Mohammad Bin Qasim  (2) Mahmud of Ghazni
(3) Mohammad Ghori (4) Genghis Khan
g9 1026 ¥ |y Af=R @ fem T R ?
(1) #ewe 9 Fikm (2) @&
(3) dremr Tl (4) 1 @M

11. | Name the Prime Minister of Russia
(1) Vladimir Putin (2) Leonid Tibilov
(3) Valentin Topov (4) Dmitry Medvedev
SH & 94 =il H AH S |
(1) =R gfee (2) feafE i
(3) ot dE (4) =y Agag

12. | Choose the smallest country among the following in area
(1) San Marino (2) Tuvalu
(3) Nauru (4) Monaco
Pt o 851 & |9 BIC a9 H g | 3

: (1) == R @) =g
L (3) B (4) e

-2012/SET-Y (3)
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PQ“;“E”"[ Questions o
13. | Excepting China and India, which country has the biggest population in
Asia?
(1) Japan (2) Banpgladesh
(3) Indonesia (4) Palastan
9 7 v # HEer e # e 3 9 ooy galivs R 7
(1) =myr= (2) S
(3) 2R (4) WEEE *
- =
14. | Angkorwat temple complex is situated in .....ccceeie
{1} Indonesia (2) Cambodia
(3) Thailand (4) Malaysia
(1) z=rfe (2) FwafEm
(3) uEwE (4) s

15. | What is the capital of Qatar ?

(1) Doha (2) Muscat
(3) Kuwait (4) Manama
FAT & T 4§ 7

(1) @ (2) W=
(3) = (4) W

16. | In a certain code, *‘T86" means ‘study very hard' 958’ means ‘hard work
pays’ and ‘645 means ‘study and work’. Which is the eode for ‘very' ?

(1) 5 (2) 6
{2y 7 (4) B

T %z # 786 = 54 & ‘wdi 30t o' 958 W o ¥ ‘md 7 U’ 701 645 F ool & ‘wA
e S e ek ?

(1) 5 {2) 6
(3) 7 (4) &

—

l

CJDEOT-2012/SET-Y (4)
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17. | What % of a day is 2 hours ?
(1) 8% (2) 12%
(3) 4.16% (4) 8.33%
% v % B . R wiem ¢ 7
(1} 8% (2] 12%
T 3) 4.16% (4) 8.33%
18. | Choose the group of letters different from others,
(1) POCG (2} KLIZ
(3) BUDX (4) FQMV
¥ o WE 9T A o @ R R
(1} POCG (2) KLIZ
(3) BUDX 4) FQMV
19. | Two tanks are of the same capacity. The dimensions of the first tank are

12 m x 8 m x 4m, The second tank is square with a depth of 6 m. Find the

side of the second tank.
(1) 4m
(3) 8m

(2) 6m
{(4) 10m

3 A AW e B ) e o @ R 12 6 x 8 d x4 @ ¥ gE T aiE § a

& & 7rq ¥ T e # Ao A
L 44

(2) 6
(4) 10 7
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lQuestion
No.

Questions

20.

Which alternative does fill up the blank ?

NENANEE

A%

(3)

BF-71 e R W & s & 7

(2)

(4)

2

A -l Al

(1) W

3)

(2)

(4)

CJDEOT-2012/SET-Y
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Questions
&
- A hawker from a point walks 7 km Eastward to turn left and walks 6 km.
From there he moves Southward 7 km to turn right and stops after walking
j 7 km. How far and in which direction is he now ?
' {1) 8km, East (2) 13 km, North
{(3) 1km, West (4) 1km, South
vF VEdEE U w8 7 A, W & oaiw o et and g2 @ B AT 6 e awem 2
o8 A aftr 1 S 7 Beof. =we g e g w0 7 FROR. 9R w6 AR 39 o ariteE
A A g e R g T
(1) 8 @i @ (2) 13 Bl I
{3) 1 A gfgEy (4) 1 F.A. =R
22. | Which diagram represents L
Father (F), Mother (M), Child (C) i i
K — =
' e R TN e \'I |
= 1 [ M ] |
Qo lRIclole '
': [A;qé | Fq‘
| (N W AN
ai-m o e e & 7
o (F), s (M), @@ (C)
o e,
| 4 OLCAC
Il\_,_.-"' "H\.__.-""II
l% rfPE? Fay
) YA (4) KUJJ L5y

CJDEOT-2012/SET-Y (7 4
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28. | Choose the odd one
(1) Geometry (2) Algebra
(3) Arithmetic (4) Mathematics
e
(1) e (2) it
(3) SHeBTom (4) wfow
24. | What is equal to
0.9 x0.01 x0.03
=7
.27
(1) 0.01 (2) 0.001 (3) 0.10 (4) 0.0001
———— & TR T A
0.9 % 0.01 x0.03
=7
0,27
{1) 001 (2) 0.001 (3) 0.10 (4) 00001
25. | Find one number from the given alternatives which can fill both question

marked spaces :

Jeas 1
7 16
(1) & (2) 4 (3) 256 (4) 20
R 0 Reedi & U wen g7 @ O o Rl wre & e e
B _ 1
T Y6
(1) 5 (2) 4 (3} 206 4y 20

CJDEOT-2012/SET-Y (8)
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Simplify the following.
15-11x14+7-(-T)="?
(1) 44 (2) 14
(3) 0 (4) 15
Bt & |9a #)
15-11x14+7-(-T)=7?
(1) 44 (2) 14
(3) 0 (4) 15
Complete the series.
4,16, 21, 5, 20, 25,6, 24 ——.
(1) 29 (2) 30
(3) 18 4) 7
e @ T H

; 4,16, 21, 5,20, 25, 6, 24 —,

I 1) 29 (2) 30

1 (3) 18 4) 7

; 28. | Complete the analogy.
Tractor : Trailor : : Horse : ?
(1) Stable (2) Saddle
(3) Cart (4} Engine
AT IO
Yy T A ?
(1) s (2) =@
(3) ==t (4) 57

CJDEOT-2012/SET-Y (9)
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Guestions
Choose the analogous to
Butter : Milk
(1) Pencil : Lead (2) Class : Student
(3) Jaggery:Sugarcane {4) Author : Book
i
T § gy
(1) s : R (2) e Feemd
(3} T =W (4) #a% : 7%

A room is to be painted completely from inside at the rate of Rs. 20 per
square feet including door and windows. Its dimensions are 15 feet in length))
12 feet in width and 11 feet in height. What will be the total cost
of painting ?

(1) Rs 11880 {2) Rs. 15480

(3) Rs. 19080 {4) Rs. 27360

O FAT F FTarA a9 Fasfhat " o=t § T 9 1 HEe E e w20 5. i a1
52 ¥ H 15 w7 e, 12 B2 e 11 52 SO & &) wae § 5 e ad
e ¢

(1) 11880 =. {(2) 15480 =.

(3) 18080 =. (4) 27360 5.

Some get rules and regulations while working on internet is called :

(1} Protocol (2) Internet

(3) Intranet (4) WWW

Internet 70 ¥ 74 § T Faw 37 Bigd # 92 (Set) F1 71 T2 T £
(1) Protocol (2} Internet

(3) Imtranet (4) WWW

CJDEOT-2012/SET-Y (10 )
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Videg-conferencing is used for :
(1) talking to each other (2) communication purpose
(3) live conversation (4) none
FfEar si=pem = 39 Reafa B wm &
: (1) amea & 99 #19 2 Rm (2) g %
(3) =i =i & fm (4) Fwiem & A Fx T
33. | VDU isa
(1) Inputunit {2) Output unit
{3} Processing unit (4} Storage unit
VDU fm wi % Device # -
(1) w9 &= (2) waeqe o
(3) oM =R (4) =
34. | What does optic fibre use to transmit data :
(1) wibrations (2) sound
1 (3) electric current (4) light
| | Optic Fibre # e siamer & o Fewem s 8 2 -
(1) g7 2) =f
(3) g am (4) wErH

35. | What is Binary equivalent of 23 :

(1) 1010 (2) 1101
i 3) 10111 (4) 10101
[ === ==7 23 71 757 equivalent #1 & :

1 1010 (2) 1101

(4) 10101
{11}

& 1011




Code-A
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36. | In satellite based communication f-TEﬂT stands for :

(1) wery small aperture terminal
(2) varying size aperture terminal
{3} very&mall analog terminal

(4) wnone of above

T st e § VSAT % waea & -
(1) wery small aperture terminal
(2) varying size aperture terminal
(3) wverysmall analog terminal

(4) s & & =2 & 78

_l I
E‘ 37. | The word length of a computer is measured in :
(1) Bytes (2) mm
(3) m (4) Bits
Feager & g e P A el Al A B
(1) amEw (2) Pty
(3) e (4) P

38. | What type of device is computer keyboard :

{1) Memory (2) Output
(3) Storage (4} Input
Feayey & 412 B 9 @ device ¢

(1) Memory (2) Output
(3] Storage {4 Input

CJDEOT-2012/SET-Y (12
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hu;:mj Questions
39. | Softwares such as explorer and firefox are referred to as
(1) System Software (2) Utility Software
(3) Browsers "~ (4) Internet tools
divzaaT o fF explorer 73 fivefox ¥ weam ¥
(1) Foew ey 12) efr Hiraay
(3) #H (4) Ferie 9
40i | The time elapsed between the initiation of a memory operation and the
completion of operation is known as :
(1) memory cycle time (2) memory access time
(3) transfer time (4) skip time
Frdl memory operation # g@s A W6t A 81 & 419 W W T AL
(1) memory cycle time (2) memory access tire
(3) transfer time (4) skip time
41. | E-mail address separates the username from the ISP using the ...........
symbaol :
(1} & (2} &
(3) % (4) *
£ 79 T SEUET 8 T F AN B e % B N A ¢
(1) & (2) @
(3) % (4) *
42, | Before a disk can be used to store data, it must be : |
(1) formatted (2) reformatted
(3) addressed (4) none of the above
e O R = 5 8w, e Ao, F! T
1 (1) e (2) Frede
i (31 wE (4} IwiET & & F5 o T ad

CJDEOT-2012/SET-Y (13)
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43. | When you put on the computer in morning it is cajled :
f (1) hot boot (2} cold boat -

(3) warm boot - (4) none of these
w4 FYeT B GEE on FW A E, @ e, F B
(1) & g (2) #eE T2
(3) ad T (4) IqiF ° & =2 it 7

44, | Exploring the world wide web is called :
(1) Netsurfing (2) Internet explorer
(3) Netnavigation (4) Netscape Navigator
g% 4% 99 H explore T B T FH AW §
(1) Net surfing (2) Internet explorer
(3} Netnavigation (4) Netscape Navigator | |

45. | The first part of a complete URL is the .......... needed to access the web
resource : '
(1) address (2) name
(3) location (4) protocol
dt URL & 80 Y17 ¥ .......... g 5, o 39 HanE v 9 % fog A
(1) G (2) =™
(3) == (4) e

46. | To move the cursor page to page of document

(1) Ctrl+PgDn (2) Ctrl+ PgUp

(3} Both of above (4) None of above

e # 0% U9 @ IEt O 0 cursor A & 9 F B Fr= & # Sw-m wdm dan B
(1) Ctrl+PgDn (2) Ctrl + PgUp

(3) F AW (4) 7 9 3 FE T

CJDEOT-2012/SET-Y (14)
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b“ﬁ;}““ Questions
47. | Which of the following is used to create news paper style columns 7
(1) Format Tabs (2) Table Ins.Ert Tahle
(3) Insert Texthox (4) Format Columns
et § & areE @ $ column ¥913 & o #-ar wdm & amn e & 7
{1} Format Tabs {2) Table Insert Table
(3) Insert Textbox (4) Format Columns

. 48. | To insert a drop cap in one of the paragraph you should access

(1) Insert Menu (2) Format
(3) Tools {4) None of above
et ToEmE & drop cap TEA % B Fpe § @ #-m m@E oA 7
(1) Insert Menu (2) Format
(3) Tools (4) FulE 4 8 FE TE
F ' 49. | What is the shortcut key to Close Active Document in MS word 7
(1) Ctrl+F4 (2) Shift+F4
(3) Ctrl + Shift + F4 (4) None of above
L MS Word # ofizs swed %1 9% 373 3 @ Shorteut o -1 et & 7
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) ToiET & & 2 76
50. | What is the shortcut key to “Insert Hyperlink” in a document ?
(1) Ctrl+H (2) Ctrl+L
i ! (3) Ctrl+ K (4) None of above
0% FEad & “Insert Hyperlink™ # @ Shortcut =& $m=-8t it # 7
(1} Ctrl+ H (2) Ctrl+L
(3) Ctrl+K (4) FulEE 7 8 HE TE

. CJDEOT-2012/SET-Y (15)
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h“;‘f“;r Questions
b61.

A feature of MS Word that saves the document automatically after certain
interval is available on !

(1) Save tab on Options dialog box

(2) Save As dialog box

(3) Both of above

(4) None of above

e # Fidgs 99 $ 9 =9 save &1 g MS Word # feature = # & B
oy B

(1) Options =& 9 97 Save tab &

(2) Save as IEAT I

(3) T I
(4) w7 F & % 7
52. | Amaster document contains ..............cec... , each of which contains a pointer
3 to a file on a disk ?
(1) placeholders (2) subdocuments
' (3) book marks (4) references
’ UF master TEEAT T ..o i &, ot o 57 o7 w59 @ 9 pointer &
E
. (1) placeholders (2) subdocuments
(3) book marks (4) references
53. | Which would you choose to move selected text from one place to another ?

e ——

(1) Move and Paste (2) Copy and Paste

(3) Cutand Paste (4) Delete and Paste

F= 4 & selected text ! ©% % | g0 T move F F Fu F-m A
(1) Move and Paste (2) Copy and Paste

(3) Cutand Paste (4) Delete and Paste

CJDEOT-2012/SET-Y (16)
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Which enables us to send the same letter to different persons ?

(1) macros {2} template

(3) mailmerge (4) none

s & & o% @ 0 SE-aE A @ v & R - wee e g 7
(1) e (2) oo

(3) H=e (4) =3 4 78

55. 1

Which key on the keyboard can be used to view slide show ?

(1) F1 (2) F2
(3) F5 (4) F10
#iaE # B key ¥ 99 slide show 3@ % @ e o waa & 7
i1y F1 (2] F2
(3) F5 (4) F10

To open the existing presentation, press

(1) Ctrl+L (2) Ctrl+ N
(3) Ctrl+ A (4) Ctrl+ 0O
Existing IS # @5 & B ..o, A |

i1y Curl+L i2) Crh+ N
(3) Ctrl+ A (4) Ctrl+0

After choosing a predefined template, which option has to be chosen to
change the background color ?

(1) Design Template (2) Color Scheme
(3) Animation Scheme (4) Color Effects
=% predefined 29ie & g9 % 4@, fr @ & $9-9 B% background color 3

| e 3 Rl e 2 2 7
| (1) Design Template (2) Color Scheme

(3} Animation Scheme i4) Color Effects

-2012/SET-Y ({ 17)
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1. 8

How can the slide show be repeated continuously ? |
(1) loop continuously until ‘Esc’’

(2) repeat continuously

{3) loop more

(4) none

‘Slide show Ft /=1 # # &8 27T 0K repeat &1 w7 & 7

(1) loop continuously until ‘Esc’
(2) repeat continuously
(3) loop more

(4) avie 3 & B

a9,

In PowerPoint, when the mouse pointer appears as ..............

that Draw Table feature is on
(1) Solid plus sign

(2) Solid arrow

(3) I-beam

(4) Pencil

this it indicates

PawerPoint § mouse pointer R 8 8 (... PR imet A G e &

Draw Table =7 on % |
(1) Solid plus sign
(2) Solid arrow

(3) I-beam

(4} Pencil

CJDEOT-2012/SET-Y (18)
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60. | What do you do to start the slide show ?
(1} Click on Go
(2) Turn on transition
(3) Click on the slide show icon
(4) All of the above

.| SlideshowRH geFH s am s Fa # 1

(1) Go #t Click =t (2) Transition F turn on ¥
(3) SBlide show # fFe & (4) F90F 9 /g

61. | To print the PowerPoint presentation, press
(1) Ctrl+T (2) Ctrl+E
(3) Ctrl+8 (4) Ctrl+ P
PowerPoint 52 #t fiir & & it Fr=r & & f9-8 =md 7
(1) Ctrl+T (2) Ctrl+E
(3) Ctrl+ S (4) Ctrl+P

62. | Which key do you press to check spelling ?
(1) F3 : (2 Fh
3) F7 {4) F9
Spelling 3= &3 ¢ &3 P & 8 -9 o9 =90 & ?

1: (2) F5
(4) F9




k]ui‘,'atiun1
i Questions

683. | The Paste Special ecommand lets you copy and paste :
(1) Multiply the selection by a copied value
{2) Cell comments

(3) Formatting options

(4) The resulting values of a formula instead of the actual formula
Paste Special =0z = § 2 B Copy o Paste %78 &

(1) wF =i # g value & selection I T @ §

(2} Cell comments

(3) Formatting F%

(4) aweias s i 29 e @ B values

64. | To delete an embedded object, first

(1) Double click the object

(2) Select the object by clicking it

(3) Press the Shift + Delete keys

I (4) Select it and then press the delete key
Embedded =gz 7 delete 77 % o e o9 70 &y ¥
(1) Object F =97 fFF T2

(2) Object = fFaF &% %z &

i (3) Shift + Delete = i w2

(4) TER ZH Howe & T W7 delete I9 @Y

CJDEOT-2012/SET-Y (20
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65. | Tab scrolling button

(1) Allows you to view a different worksheet

(2) Allows you to view additional worksheet rows down

(3) Allows you to view additional worksheet columns to the right
(4) Allows you to view additional sheets tabs

SEmEmaT e AR Em

(1) UF I TH4E F 35+ F o9 799 T 8

(2) additional %5 rows down F 369 # B w9 T9m &
(3} additional #5= columns to the right # 357 % f 75m = &

(4) Additional sheets tabs ® 255 § B o849 =9@ &

66. | The chart wizard term data series refers to :
(1) A chart legend

(2) A collection of chart data makers

(3) Adatalabel
{4) A set of values you plot in a chart

Chart Ba# term == ffrg = e 9 4 f5ed it 2

(1) % &7 legend

{2} Chart data makers & @78

L (3) ©F =reT A

4} Values 57 #= @it @y a2 # plot &7 2

-2012/SET-Y (21
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67.

A typical worksheet has ............ number of columns
(1) 128

{2} 256

(3) 512

(4) 1024

w typical worksheet & ............. column 7 B

(1) 128
(2) 256
(3) 512
(4) 1024

What symbol is used before a number to make a label ?

(1) “{quote)

(2) =(equal)

(3) _{underscore)

(4) “(apostrophe)

M= % § #9 @ symbol TF number & a1 6 e B i @ label g7 @)
{1} “(gquote)

(2) ={equal)

(3) _{underscore)

(4) “apostrophe)

CJDEOT-2012/SET-Y (22)
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'*-EE::;?M] Questions /|
69. | Which elements of worksheet can be protected frnn;i accidental modification
(1) Contents (2) Objects
(3) Scenarios (4) All of above
g & worksheet 3 #9-5 a9 Fowr modification ¥ protect Brd =1 g5 B
* | (1) Contents (2) Objects
(3) Scenarios (4) T 7 o4
70. | Data can be arranged in a worksheet in a easy to understand manner

using
(1) autoformatting (2) applying styles
(3) changing fonts (4} all of above

sitrEt & worksheet & av5 708 & P § & g a0 sl B a o9 @
(1) auto formatting (2) applving styles

{3) changing fonts (4) F97 3= 79

i —

Select the correct form of the verh from the options to fill in the blank in
the following sentence

Did you think, you me somewhere before

(1) had seen (2) have seen

(3) were seeing (4) saw

EOT-2012/SET-Y (23)
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[" 72.

Select the correct option to fit in the blanks in the following para.

The mountaineer wasabit .......... ashewas............. cutting steps to reach

the top of the hill. He was still moving up ..............
(1) tired, continuously, carelessly

(2) energetic, continuously, aimlessly

(8) tired, continuously, carefully

(4) tried, continuously, carefully

73.

Select the correct option to fill in the blank in the following sentence

Marv enjoys ............ video games
(1) inplaying (2) atplaying
(3) for playing (4) playing

Read the following passage and select the statement best supported by it.
Road accidents can be prevented if the quality of roads is improved and
the drivers are imparted training in safety rules which they must follow. It
is also equally necessary that illumination on the roads is adequate so as
to prevent accidents during nights.

Statements :

(1) Road accidents are man-made and are always avoidable.

(2) Road accidents are solely due to inadequate illumination.

t3) Drivers lack of knowledge of safety rules is the only cause of road

accidents.

(4) Road accidents result in large number of deaths.

CJDEOT-2012/SET-Y (24)
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75.

Read the following passage and select the correct answer

Leg pain or numbness with er without back pain is a common reason for

individuals visiting various clinics. Usually there is no history of injury to

the leg and lower back. Leg pain often starts in the lower back where the

sciatic nerve originates, This is similar to power going off in our houses

when the problem originates at the electric pole or elsewhere.

(1) Leg pain starts from the place of origin of asciatic nerve

(2) Injury is the only cause of leg pain

(3) Leg pain is not akin to power failure in the houses which occurs at the
electric pole

(4) There is no need for diagnosis of leg pain.

76.

One of the following sentences is correct, while the rest three have some
error(s). Select the correct sentence.

(1) Walk carefully lest you fall down

(2) Walk carefully lest you may fall down
(3) Walk carefully lest you are fallen down
(4) Walk carefully lest you should fall down

The following sentence has an error in one of its part, The number assigned
to the part is the answer. Ignore the errors of punctuation, if any. Mark
the correct answer.

As the Prime Minister of India, Jawaharlal Nehru was known by all types
of people in the World

(1) As the Prime Minister of India

(2) Jawaharlal Nehrn

(3) Was known by all types

'4) of people in the World

T-2012/SET-Y (25 )
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78. | Select the correct option reflecting correct meaning of the word *Baffle”.
(1) Fear (2) Puzzle
(3) Clarify (4) - Enlighten
79. | Select the option which is a synonym of the word “Torment”.
(1} Comfort
(2) Respect
(3) Torture
(4) None of the above
B0. | Select the option having meaning similar to the word “Abandon”,
(1} Renounce {2) Retain
(3) Maintain {4) Capture
81. | Select the antonym of the word “Replaceable” from the options given below
(1) Irreplacable
{2) Inreplaceable
(3} Irreplaceable
(4) Unreplaceable
CJDEOT-2012/SET-Y (26)
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Select the correct antonym of the word “Measurable” from the options

given below
(1} Inmeasurable
(2j Immeasurable

(3) Unmeasurable

(4) None of the above

83. | Select the gption which is antonym of the word “Encryption”.
- (1) Uneryption

(2} Description

| (3} De-encryption

(4) Decryption

T —

84, | Select the option with correct spelling of the word

R

(1) Beleaguer

/ i (2} Beleagur

(3) Beleageur

(4) Beleagar

CJDEOT-2012/SET-Y (27)
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85. | Select the option with correct spelling of the word
(1) Chauffar
(2) Chauffer
(3) Chouffer
(4) Chauffeur
Bg. | &% ol qFr FEmT g
it -
| (1) e (2) =i
_ (3) w=h (4) @
‘ 87. | Friffge s 3§ & i9-m1 992 g # 7
(1) &g (2) Frimgm
(3) i (4) weiRm
88, | Fr=fefas =l & § F9-0 Yo" = o qgEaE a8 7
(1} =% (2) Tl
(3) =dA (4) mEr=
89, | Fisha =) 5 & CondE” o= # TS o= W a9 S
(1) s (2) P
(3) Fvds (4) M :
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90. | @@ o g B g
=3
(1} aeT (2] %
(3) =n (4) TEm

91. | fa=iiem o=t 8 & 9= 7% g
(1) Swgse (2) g9
(3) FAEEE (4) g

S ——

92. | M= s wudl § @ S i giE § e g H e B 7
(1) Fpda, T, S

(2) ToeeHT, A, s

(3) i, SR, HTE

(4) #grand, sgeemn, AofE

93. | Meivlian o=l & # A" = § faodads o= 99 S
(1} ufgEt
(2) wRwETE
(3) wedri

| (4) wrmEd

B | = Brow g ¥ g A e @ R R 9

. | T @ ¢ o e | O
& (2} Rl

(4) =




Code-A
h“;;f““[ Questions
. 05. | Frefafas g & fea = w0 8 o e & 909 Sifg
k T5H OF ST coerreenns L
| (1) @ (2) &
(3) i (4) T

96. | 7= R MU fawe § # @9 ey B
(1) 7 50 & am B

(2) e et B g R
(3) s & 9% TR F 2w 4

(4) F A 79 TEE TEE T AT

97. | i Fed g i =97 9 A At Hogar R R s A of w9 & Hed ) gty

! ® 1 gy o 9 et

! S o e 3 R 3 2 o T B

| (1) ¥ of (2) e B R 3
(3) =gt = T (4) 9 3¢ @

98, | Fr=iwiEs W # Yoet e A" RO T gwd § § @@ 367§ uien |

i arE # OF 0% @ WeR o7 8 6 | 4 &9 ° OF GE #8986 e E
5 FE A9 F 3 S o g vEen B ogue d angs te S 98 Ao 9 O 2

TEF T R wm A At R
(1) M (2) =i
(3) =m (4) =an
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99. | @ ¥ T B g0
A -
(1) =g (2) 5
(3) TA« (4) FEEEEm

100. ﬁﬁﬁwqraaﬁaﬁ%-ﬁ?ﬁwnﬁﬁﬁqﬁ a”r'r?nra:raa'—rﬂ?lﬁﬂn
(1) e (2) =
(3) FeEE (4) FHHafE

——
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A 1
1. Which among the following is the largest (area) Union Territory ?

f (1) Puducherry (2) Lakshadweep®
(3) Andaman-Micobar ~ (4) Daman & Diu

l| et # wadl ae1 dw e 8 #H-a 7

'i' (1) 7o (2) e
(3) r=wF-ferEm (4) =79 v fag

, 2. Which dynasty among the following did emerge the earliest to rule 7

' (1) Tughlak dynasty {2) Sayyad dynasty
{3) Slave dynasty {4) Khalji dynasty

ey aeif & wdgeE e @ @ e gan ?

. (1) TT=F g9 {2) HOE g9
| (3) M 97 (4) Rg=ah aw

3. How many times do we breathe at rest (in adulthood) per minute ?

| (1) 20-25 (2) 72-75 (3) 1317 (4) 5-8
B9 (guer) fmm 2 smeen § ofty fee feo an wig o £ 7
(1) 20-25 (2) 7275 (3) 1317 (4) 5-8

4. Name the capital of Canada :
{1y Toromto {2y Mordreal
{3) Vancouver (4) Ottawa
HeIS] ] AT BT A AT
(1) =) (2) =g
(3 TTEw (4) Frea
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5. Which among the following is the smallest religious minority in India ?

(1) Sikhs (2) Christians
(3) Buddhists {#) Jain
A i wEN vl serees W (@) P d e i 2
(1) faers (2) dwrs
(3) " (4) =4

6. Who was the first woman to be the Union Minister in India ?

{1} Sarojini Naidu (2) Sucheta Kriplani

(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
Wea # g S g9 el e wfen @i off 7

(1) e Arg (2) g poer

(3) o wsit o (4) WA sy DN

7. When do we observe National Youth Day ?

(1) May, 8 {2) January, 12
(3) June,5 (4) August, 29
2R weta ga s v A E 7
(1) 8 7= (2) 12 wrwed
(3) 5% (4) 29 3rTe
8. FEritrea issituated in .......... r
(1) Europe (2) Africa
(3) Asia (4) South America
TREET e B TR B
(1) M (2) anfre
(3) wiH (4) mfém sl

CJDEOT-2012/5ET-Z/(A)




10.

11.

8. What is the Life Expectancy (in years) as per Census India 2011 provisional figures ?

(1) 70 (2) 72 (3) 65 (4)° 67
ST ¥ SRR 2011 9 ol et & sgan dree seanm (@) @ # 7
(1) 70 (Z) 72 (3) 65 (4) 67

Who have been recently nominated to Rajva Sabha ?
(1) Sachin Tendulkar

{2) Rekha and Sachin Tendulkar

(3) Anu Aga and Sachin Tendulkar

(4) Rekha, Anu Aga and Sachin Tendulkar

e &1 o ren o # forE v P T B 7

(1) wfaw dgase

(2) @1 vF Wi g

(3) 3 s uE e degee

(4) Y, 3 sm v AfyE dgeEe

MName the capital of Assam :

(1) Guwahati {2) Dibrugarh
(3) Dispur (4) Jorhat
W ) o w1 A A

(1) TE'E:T (2) feawe
(3) fFagR (4) v

Which river(s) flow through Iraq ?

(1) Nile (2) Tigris

{3) Euphrates and Tigris {4) Nile and Tigris
g0 # wel =) s 2 7

1) == (2) Rwivs

3) gevew ud Rafw (4) o wa fenfra

S 2/SET-Z/{A)




13. In which year Reserve Bank of India was created 7

(1) 1921 (2) 1935 (3) 1947 (4)- 1955

Wl Red & &0 o 9 a9 T ?

(1) 1921 (2) 1935 (3) 1947 (4) 1955
18, One gram of weight is equal to ... - Trathigramm,

(1) 10 mg (2) 100 mg

{3 1000 myg {4) 10000 mg

T W AW ... (WSO & awrEy g #

(1) 10 Brme (2 100 e

{3) 1000 e (4) 10,000 fArmme

15. Who picked up IPL-5 cricket championship 7

(1) Chennai Superkings (2) Mumbai Indians
(3) Kolkata Knight Riders {4) Delhi Daredevils
ZodlatHe-5 fde wirmfien e o ?

(1) @=% gue F= (2) 992 s

(3) Srermrn e wEe (4) Ewelt R 2w

16. A person lent some money at 9% and the same amount at the rate of 10% for 2 years.
He earns a simple interest of Rs. 760. Find the total amount invested :

(1) Rs.4,000 {2} Rs. 2,000
(3) Rs. 1,900 (4) Rs. 3800

UE = 7 e o9 9% 3 & | aul g 8 g9 10% e @ ' o 2 ™ 5 g aun
f=ET | 99 760 o WY S 9T 51| g W g B g @ fe fen 7

(1) 4.000 &= (2) 2,000 %o
(3) 1900 %< (4) 3,800 %o

CIDEOT-2012SET-Z/(4)




18.

19.

The list price of an article is Rs. 450. It is sold at twe successive discounts of 10% and

5%. Find the sale price :
(1) Rs. 39525 (2) Rs.384.75
(3) Rs.382.50 (4) Rs. 435

T T W YED 450 To frmmm o Rree wiE o s weeRw gE 0% w8 5% )
8 | Fw e amy

(1) 395.25 %o {2) 384.75 %o

(3) 38250 %o (4) 435 %o

A candidate secures 69% of the votes polled and wins the election by 570 votes. I
there are only two candidates and no vote has been cancelled, how many votes were

polled: 7
(1) 1,500 {2} 1,800 (3) 571K (4} 6900

Te SEEaR A U2 Ad @ 69% W S 570 Ao ) g ot of? €1 & sehean 6
s T A W W A g @, W g R amt S e e @ v

(1) 1,500 (2) 1,800 (3) 5,700 (4) 6,900

In a certain code MYSTIFY is coded as NZTU]JGZ, how is WNEMESIS coded in that
code language ?

(1) MDLHRDR (2} OFNFTIT
(3) PGOKUGU (4) ODNHTDT

TF e 4 H MYSTIFY #1 NZTUJGZ & &9 4 forar wmn & NEMESIS #41 fael
w7

(1) MDLHEDR (2) OFNFTIT

(3) PGOKUGU {4) ODNHTDT

-2 YSET-Z(A)




'20. Two cubes each of side 10 cm, are joined end to end. What is the surface area of the

resulting figure 7

(1) 500 em? (2) 1,500 em?
(3) 1,000 cm® {(4) 1,200 cm®
ﬁﬁgmﬁﬁﬂy{ﬂﬁ]Haﬁ?ﬁW¥iﬂ%E|ﬂ¢mﬁgﬁmﬂﬂiﬁﬂwawﬁ?
(1) 500 #A° (2) 1,500 ¥
(3) 1,000 ¥ (4) 1,200 %

21. Which alternative does fill up the blank ?

o0 9 []
(1) °@° (2) @

_

(3) l'_éj @ | [ ‘

Fr-w fAew e wH & wem & 7

€9 ple ¥ 53]

(1) @ (2) lo
(3) @ (4]_

B> 1>
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22. Ravi starts from a point on his bicycle to ride 8 km to North then takes a left turn to
move 11 km. There after he rides 24 km Southward and"_ﬁna]l}r turn to left to stop
after a ride of 11 km. How far and in which direction is he now ?

(1) 32 Km, West (2) 2 Km, South

(3) 16 Km, South (4) On starting point

W ta waE A A afks o 9TR @ s 8 @l 9@ e ot g wre @ e 11 fed
wae &1 g8t & aw 24 B afier @ ol 59 aw @d qe @ 11 Bl o v o @) aw
A Pl g 2 7

(1) 32 f=h oftem (2) 2 fady efimo
(3) 16 ekt =fdm (4) urfhms e o=

23. Which diagram represents Sun(S), Planets(P), Earth (E) 7

(1) (2) @

i (3) CHOIOI0

w4 (S). et (P), 7=t (E) &1 o= o= s wwar g 7

M @ )

¥olol0

CIDEOT-2012SET-Z/(A) PEO.
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24. Choose the odd one :
(1) Chameleon {(2) Crocodile
r (3) Alligator (4) Locust
det g -
(1) frfie (2} R
(3) e (4) e

25. What is equal to +/384.16 = ?

(1) 196 (2) 196 (3y 61.98 (4) 6.19

J384.16 =7 & FYEE W OB

(1) 196 (2) 19.6 (3) 61.98 (1) 6.19
26. Find one number from the given choices which can fill both blanks :
D& gy
? 0.03
(1) 9.00 (2) 0.009 (3) 0.90 (4) 0.09
R 4 fawedt # & T W o o 991 Rew wrel & o w9 I
027 _ 27
T 003
(1) 9.00 (2) 0.009 {3) 090 (4) 0.09

27. Simplify the following :
715+ xd4=-06=7
(1) 34 (2) -49 3) 13 (4) 1
=1 I e P
7+15+5=x4d-6="7
(1) 34 (2} —4.9 (3) 13 (4) 1

CJDEOT-2012/SET-Z/(A)




Complete the series :

300 RS S, Wi :

(1) 19 (2) 20 (3) & (4) 45
ST WY G @ '

W 13412, 16,5,15 .
(1) 19 (2) 20 (3) 6 {4) 45
Fﬂn'tpleh.! the analogy :

MNewspaper : Press : : Cloth ; 7

(1} Tailor (2) Fibre
{3) Mill (4) Cotton
"Gy B T
AN . Hgomerd - - Hyel ;7
(1) == (2) arm

| (3) HreErET (4) U™

| 30. Chopose the analogous to
Hen : Chicken

(1) Lion : Lioness (2) Lamb : Sheep
(3) Butterfly : Caterpillar {4) Ostrich : Bird
GEE e
ot - gt
(1) 9% : 7% (2) &7 9%
F (3) forreht - & (4) afifege : o

CIDEQT-2012/SET-ZX A} Pogl
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31. A high speed, high capacity transmission medium that can carry signal from multiple
independent network carrier is :
(1) Marrow band channel
(2) Voice band channel
(3) Broad band channel

(4) MNone

UH 9= T, 9= sEo & Hoen aegm @ @AY independent Network Carriers 3
| AT (signal) = @ W &

(1) Narrow band channel
(2) Voice band channel
(3) Broad band channel
(4) aodra #§ 9 g e

32. URL stands for:
(1) Uniform Read Locator
(2) Uniform Resource Locator
{(3) Unicode Research Location
(4) United Research Locator
URL feeenT i~ & 7
{1) Uniform Read Locator :
{2} Uniform Resource Locator
(3) Unicode Research Location

{4) United Research Locator
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33. Machine codeisa:
(1) Low level language
{(2) High level language
(3) Software language
(4) Compiler
{1) Low level language

P {2) High level language
(3) Software language
(4) Compiler

34. What does OCR stands for ?

(1) Optical Character Reader

{2) Operational Character Reader
(3) Optical Character Recognition
(4) Only Character Reader

OCR e Hiémiies g 7

(1) Optical Character Reader

(2) Operational Character Reader
(3) Optical Character Recognition
(4) Only Character Reader

35. The octal equivalent of 111010 is :
(1) 81 (2) 72 (3 71 (4) None of these
CIEREl (Binary) =¥ 111010 &7 octal equivalent F7 &2
(1) 81 (2) 72 (3 71 (4) Swdas # = A =5

CIDEOT-2012/SET-Z/(A) P.T.0.
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36.
|
.
'3'3!

What does .cor domain represent ?
(1) Education domain (2) Commercial domain
(3} Netwark {4) None of the above
com BWA (Domain) 77 T £ 7

(1) wo@es =hH (2) wafda| =

(3) eas (4) v & & w0 A

Two kinds of main memory are :

(1} Pritnary, Secondary {2) Random, Sequential
{3) RAM, ROM {4} All of the above
He Wi (main memory) & 81 WHFN 1 € 7

(1) Primary, Secondary (2) Random, Sequential

{3y RAM, ROM (1) TuhEE

Firewall in a Computer Network is :

(1) the physical boundary of network

(2) an operating system of computer network

(3) A system deviced to prevent unauthorized acvess
(4) A web browsing software

Ty “ea® ¥ Firewall @ g # 7

(1) “eas & e W

(2) *ea® W Iaxie (operating) FRes

(3) womell (system) 1 aFTfRgT 959 | T F fog
(4) Web Brawser Hi7edDy
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a4, Cm‘np uter size was very large in

{1} First Generation (21 EEt'ﬂﬂdGenr:frah'w:T_
(3) Third Generation {4) Fourth Generation
TSR H1 WER qET q9 91 |

(1) el 9 4 (2) T A

(3) drerdt it A (4) =redt drdt 3

40. Digital systems are systems which :
(1) deal with digital information in the external world
(2) uses analog signals
(3) manipulate information
(4) handie information in digital form internaily
Digital R
(1) @ned gfan 7 fefred information deal w
(2) analog signals WEHT F¥d #
(3) information 1 875% (manipulate) F30 4

{4) feforea information 1 AN (internally) handle Fvd 8

41. Who is known as the father of computers 7

(1) Herman Hollerith (2) Grace Hoppers

i (3) Charles Babbage 4] Newton
®] FET T A A AR G
{1} Herman Hollerith (2) Grace Hoppers

{3) Charles Babbage {4} Newton

CIDEOT-2012/SET-Z/(A) P. TAE).
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42,

43.

The main advantage of magnetic core memory over semiconductor RAM is :
(1) more compact and smaller ;

(2) more economical

(3) more compact & large

{4) more volatile

frafr @ A & AfwEae RAM & w0R e A #

(1) @ifT Frdee v e

2) st Rrbrad

(3) wfers ®hige st Ta

(4) sferm arftew

Unsolicited commercial e-mail is commonly known as :

(1) junk (2) hoaxes

(3) spam (4) hypertext
Faifesd (unsolicited) Emaef® §-Ae |y WA WOl #
(1) i (2) e

(3) T (4) BETRCEE

Which of the following refers to transfer of a file from your computer to a remote
computer ?

(1) FIP (2) Uploading
(3) Downloading (4) Telent

freferias % & @1, U@ File 1 U5 e & 590 Ry oy W & @9 & wef 4
waltr fan wnen &

(1) FIP (2) Uploading
(3) Downloading (4) Telent
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ceranesees BTE USed to connect two dissimilar LANS.
(1) Bridges (2) Gateways
{(3) Router . (4) Al of the above

e, Y 2 R LANS ® Wims & fo0 war i s 8

(1) Bridges (2) Gateways

(3) Router (4) SoeET 99

46. Which of the following command is not available in Tools menu ?
(1) Auto text (2} Auto correct
(3) Auto summarize (4) Macro
Tools 77 ¢ =1 # & #9- command gz 78 €rh 7
(1) Auto text {2) Auto correct

{3) Auto summarize {4y Macro

47. Which of the following can not be used to create parallel style column ?

i (1) Forrmat Tabs (2) Table Insert Table

(3) Insert Textbox {4) Format Columns

fm & & @S- wEeR e @ Column 37 # sa 7@ s o W ?
(1) Format Tabs (2) Table Insert Table

(3) Insert Textbox (4) Format Columns

i CIDEOT-2012/SET-Z/(A) P.T.O,
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48. What is the shortcut key for "subscript” the selected text ?

(1} Cirl += (2) Cirl + -

(3} Curd +Shift 4= (4) Cyrl +Shift +

TR 29 B "subscript” $91 $ B shorteut T Sl 26y 2 7
(1) Ctrl += (2) Cirl +—

{3) Ctrl + Shift + = (4) Ctrl + Shift + -

49. What is the shortcut key to Update Formula in a table ?

(1) F9 (2) Alt+F9
(3) Ctrl + F9 (4) Shift + F9 i
2qd H WA AugE we @ f5Y shorteut Trf F- B & 7
(1) B (2) Alt+F9
(3) Cirl + F9 (4) Shift + F9
50. What is the shortcut key to "Undo” the last action in a document ?
(1) Ctrl + X (2 Cel+Y ‘
(3) Ctrl + Z (4) MNone of the above
gmad # A F B "Undo” e & Bl shorteut ol @i gnf & 2
(1) Ctrl + X (2) Ctrl + Y
(3) Crl +2 (4) wuvreEd § | @

51. What is the short cut key to open the Open dialog box ?

(1) Fi2 (2) Shift + F12

(3) Alt+F12 (4) Ctrl + F12

Open Traen 4i# @ra @ 7394 short cut =1d) @81 & 7

(1) F12 (2) Shift + F12 ‘.:
(3) Alt+F12 (4) Ctrl +F12
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§2. What are inserted as cross-reference in Word ?

(1) Placeholders (2) Bookmarks
* (3) Objects {4) Word Fields

Word # F19-% cross-reference insert &3 @ & ?

(1) Placeholders {2) Bookmarks

(3) Objects (4) Word Fields

53. Which would you choose to save a document with a new name 7
(1) Press Ctrl +5
l (2) Click File, Save
(3} Click Tools, Options, Save
{4) Click File, Save As
=1 # ¥ document B! T A9 A save Fv @ o T wEE & @t 8§ 7
(1) Ctrl +S =7 =41
(2) R&a File, Save
(3) =% Tools, Options, Save
1 (4) Té=F File, Save As

54. Which of the following do you use o change margins ¢
(1) Formatting toolbar
| (2) Page Setup dialog box
(3) Standard toolbar
{4} Paragraph dialog box
Frafefire 4 & margin goo@ & o s s § 7
(1) Formatting TofET
(2) page setup BIAEl Fi
(3) Standard ToER
(4) Paragraph STaie dfEd

EOT-2012/SET-Z/(A) P.T.O.
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a7.

We can replace a font on all slides with another font using the option ?
(1) Edit — Fonts

(2) Tools — Fonts

(3) Tools — Replace Fonts

{4) Format — Replace Fonts

frer # & - AT g it wgel # existing font 31 gAY font ¥ replace
T e & 7

(1) Edit - Fonts
(2) Tools — Fonts
{3) Tools —+ Replace Fonts

(4) Format — Replace Fonts

To insert new slide in the Current Presentation we can choose ;

(1) Ctrl + M (2) Cirl +N
(3) Ctrl +0 (4) Ctrl +F
Current ¥ufey= & ¢F 74 wigs &1 sem @ ford Fra & 9 favge wam &y wad § 7
(1) Ctrl+M (2) Ctrl +N
(3) Ctrl+0 (4) Ctrl +F

A File which contains readymade styles that can be used for a Presentation is called :

(1) Auto Style (2) Template

(3) Wizard (4) Pre-formatting

fr= & | #1590 od ¥ readymade wEe B9 & W Soidve @ fo wahr F e £ 7
(1) Auto Style (2) Template

{3) Wizard (4) Pre-formatting
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Power Point presentation is a collection of ................

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines (4) All of the above
Power Point Srert ey # 4 e s & ?

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines (4) T aret w4

Which is not the one of view options provided by Power Point to look at and modify

presentation 7

(1) Slide Show (2) Format Slide
(3) Slide Sorter (4) Normal
= # | Power Point & WWic¥q @ o@9 3R d5o1 & o SF-9 view option
TEr# ?
' (1) Slide Show (2) Format Slide
‘ (3) Slide Sorter (4) Normal

80. Howcan you stop a slide show 7

(1) Pressthe right arrow (2) Press Escape

(3) Press the left arrow {4) Press the down arrow
#10 Slide Show ®t #4 w wwd & 7

(1) =¥ arrow &7 a4 (2) Escape g4y

(3) & arrow & 599 (4) Down arrow & S&4

Slide sorter of Power Point is available on .......c..c.... menu.

(1) Insert (2) File (3) View (4) Edit
Power Point %1 Slide sorter ®Y8% ............... ¥ W 0@ & # |

(1) Insert (2) File (3) View (4) Edit

OT-2012/SET-Z/(A)
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62. The spelling dialog box can be involved by choosing spelling from ............... menu,
(1) Insert {(2) File (3) Tools '*_ i4) View
Spelling BT T B ...occrnrreneasns A9 o Spelling 7 g9 F9% mfae @ a ww
2 :
(1) Insert (2) File (3) Tools 4) View

63. All worksheet formula :
(1) Manipulate values
(-?} Return a formula result
(3) Manipulate labels
(4) Use the addition operator
Al aweite BEE e # T a e # 7
(1) Values ® manipulate #v #
(2) s @ e A #
(3) #9a! F1 manipulate B #
(4) addition 3ifvex ®1 v wed #

64. Documentation should include :
(1) Destination and users of the output data
{2) Source of input data
{3) Information on the purpose of the workbook
(4) All of the above
Documentation ¥ 791 # & 7 e & 7
(1) "Iereg U argegr =Tl @ Yo
(2) E 3% FAYe =T
(3) aHEE & AFES T TG GE
(4) Tudra =

CJDEOT-2012/SET-Z/{A)
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Getting data from a cell located in a different sheet is called ...

(1) Accessing (2) Referencing
(3) Updating {4) Functioning
UE Ao sheet § fRerr cell 9 ey o9 iﬁ'f R |
(1) Accessing (2) Referencing
(3) Updating {4) Functioning

Which of the following is not an example of a value ?

(1) 350 (2) May 10,2012

(3} 57% (4) Serial Number 50771
fre=t % | -1 value 1 9gTERor 7E & 7

{1) 350 (2} May 10, 2012

(3} 57% (4) Serial Number 50771
Which of the following formulas will Excel not be able to calculate ?
(1} =5UM (Sales}- A3

(2) =SUM (Al:A5)+05

(3) =SUM (Al : A5)/(10 - 10)

(4) =SUM (Al:A5)-10

Fret # 9 Excel F19-91 1 calculate 78 &9 o 7

(1) =5UM (Sales)— A3

(2) =SUM (Al:A5)+05

(3) =SUM (A1 : A5)/(10 - 10)

(4) =SUM (Al:A5)-10
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Which of the following is an absolute cell reference ?
(1) 1Al (2) $A%]
(3) #a#l (4) Al

=1 § 9 H9-A absolute cell reference 8 ?

(1) tAll (2) bAS1
(3) #akl (4) Al

To view a cell comment :

(1) Click the edit comment command on the insert menu

{2) Click the display comment command on the window menu
(3) Position the mouse pointer over the cell

(4) Click the comment command on the view menu

T cell @ Rwitr] &1 2w & for) Frsr A & =0 wva € 7
(1) Insert ¥ ¥ W&% edit comment & fae® #vg &

(2) Window % 9 @i#¥ display comment ®! fawa & §
(3) Mouse T2EY I cell T8 T

(4) View ¥ T comment Fs 3 foes o9 &

Concatenation of text can be done using :

(1) Apostrophe (') (2) Exclamation (!)
(3) Hash(#) (4) Ampersand ( &)
Text %1 =1 # ¥ fF8 §W concatenate fm @7 wea & 7

(1} Apostrophe(') (2) Exclamation (1)
(3) Hash{#) (4) Ampersand (& )
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Select the correct form of the verb from the options to fill in the blank in the following

sendence i
[ will call you on phone when he ........... ... back.

(1) will come {2) comes (3) is coming (4) return

Select the correct option to fit in the blanks in the following para :

Letter writing is a bit difficult job. Famous letter-writers were very ............ . They
WIOHE ..ivivirnnnnn. lEttErs which are read by people with ... .

(1) casual, excellent, case (2) careless, difficult, attention

(3) seripus, excellent, attention (4) serious, excellent, carelessness

73. Select the correct option to fill in the blank in the following sentence -

Why ............. him yesterday ?
' (1) youdidn't meet (2) you haven't meet
(3) haven't you met (4) didn't you meet

74. Read the following passage and select the statement best supported by it :

Things in metropolitan India are gradually changing. Women are being recognised by
employers, particularly in corporate sector as temperamentally more suitable in this

age. Visit any advertising agency or ad-film maker's office, the male-female ratio

leans heavily towards the female population.

Statements :

{1) Women are heading most of the ad-agencies

(2) Women are believed to be more suitable to handle infotech jobs /offices
(3) Only elite women join the corporate sector

(4) Male-female in the society is gradually changing
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75. Read the following passage and select the correct answer :

The first official results of Mexico's Presidential election, dé_clan:r:l on 1st July 2012
showed Lopez Obrador with 31 percent of vote against 38 percent for Pena Nieto of
Institutional Revolutionary Party. When Obrador lost the 2006 presidential election,
he claimed fraud and organised mass protests. The president-elect pledged to focus
on energy, labour and tax reforms, and hoped to strike deals with his opponents to

take the country forward.

(1) Lopez Obrador has been elected President of Mexico

{2). Pena Nieto has been voted to power in Mexico

(3) Pena Nieto will organise protests to expose fraud in the election

(4} Obrador will introduce energy, labour and tax reforms

76. The following sentence has an error in one of its part. The number assigned to the

part is the answer, Ignore errors of punctuation, if any. Mark the correct answer :

We are looking forward for good rains this year.

{1) looking forward for (2) we are
(3) good rains {(4) this year '
77. One of the following sentences is correct, While the rest three have some error(s). 1

Select the correct sentence ;

(1) The accused admitted his guilt in the court

# (2) The accused confessed his guilt in the court
{3) The accused agreed to his guilt in the court

{4) The accused accepted his guilt in the court

78. Select the correct option reflecting correct meaning of the word Dauntless’.
(1) Coward (2) Wavering

(3) Fearless {(4) Compromising
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82.
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delect the option which is a synonym of the word ‘Nefarious'.
(1) Virtuous (2} Upright
(3) None of the above . (4) Ewil

Select the option ]'h':n.#im!__r| m-Eﬂ.l'lirtg similar to the word ‘clu msy’.
(1) Ungainly (2) Tactful
(3) Attractive {4} Graceful

Select the antonym of the word "Serviceable' from the options given below
(1) Unservicable (2} Inservicable

(3) Unserviceable {4} Monserviceable

Select the correct antonym of the word "Mysterious' from the options given below :
(1} Straightforward (2} Puzzling
(3) Hidden (4) None of the above

select the option with correct spelling of the word.
(1) Deliberatly (2) Delibrately
(3) Deliberetely (4) Deliberately

Select the option which is antonym of the word 'Auspicious' :
(1) Unauﬁptcinus (2) Non-auspicious

(3) Inauspicious (4) Favourable

Select the option with correct spelling of the word :
(1) Acquiscence (2) Acquiescence

{3) Acquiesence (4) Acquisence
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86. Hﬁﬂﬂﬁﬁmgﬁﬂ

ar=rg
(1) i (2) sIgEo
(3) sfr (4) ===
B7. M st A s v s 2 7
(1) e (2) wdEw
(3) s (4) qT=R
8B. ﬁrﬁﬁmﬁﬂiﬁﬁﬁaﬂ?-ﬂmﬁwwwﬁmﬁr TH g ?
(1) amew=x @) i I'
(3) frdfe (4) WU |

BS. Frferitam o=l A ¢ aftw e & Rgdonds = o1 997 i

(1) argfee (2) sfre |
(3) wafrs (4) s ‘

90. W @ =N Rwey ghw - |

R -
(1) & (2) FOR
(3) it (4) FoEr

(1) arfdel (2) S
(3) ameitfars (4) mf9s

92, F=fefas m=t 4 4 e e el o qufoard e ¢ 2
(1) Freswzm (2) Frewermn
(3) wETIEET (4) Sear
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. Frefefian vl # 9 amen wer & i e w5 uge $if
(1) FRER (2) FEER
(3) wrETER (4) BN

. rd Ry my e # Rew wm @ e vl fee g

BT 2 O AR & ., O SR W vET B
(1) Sgiwg (2) HEwHE
(3) Ry (4) T

95. 1 v wv A § Rew we wee @ fom wE fAwe g

A & A A g et § A9 @ a9 3 i, FOUT
(1) | (2) @8
(3) w (4) fimm

96. 4 v v fawsul f @ wf arg wifev -
(1) T a9 3 =l T |
(2) W g W =l g |
(3) T aree & & wett T
(4) wfeh =g | & =i T

97. i ford arm w1 wm ol § dfeww waree o 2| 59 9 ww us TEm @ W
¥ gfegw 21 Iegw == # sifRke

s 7 4w wroe o oy 2 5 9w fimn oaw o o @ gvam @ el @ By sdes
|

(M MAmmaImEmome

(2} 98 fwen W & oF @ TrEE 8
(3) #Ea & fag

(4) SmEET T
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a8.

99.

1ml'

Prefaftag oty & Tewe gHE A9 By v ooRt 49wl 9o witen ¢

ko

fergft & anreh w1 oo forg 1 & o we @) B & A e 9 9§ e W e
@ A A wd Ao § o SEET § e & WERE B¢ W & 9 g W R &1 9 8

forT wa T #, offe we gy € v w921 oW W o
awfan Tary | few @ @ A W qoE @ 7

(1) wepfel (2) =™
(3) wiraa (4) Wy

el e Ao fame g

qftaaT —
(1) STl (2) wRETE
(3) R (4) T

¥ v T A @ oarte T wegn #1139 9 e i @ 9ge g

(1) i (2) et
(3) wizh (4) e
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